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CLIL – approach or method? 

 
  As a methodology the parameters can 

be more easily identified.  

 

  What works, and what does not? 
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Guide input 

Support output 
(Keith Kelly) 

 

Let them do the rest! 
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7 Principles of task-design (CLIL) 

 
 

‘Putting CLIL into Practice’ (Ball, Kelly, Clegg; 2015: OUP) 
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• http://www.youtube.com/watch?v=2g_3ovCnbd4 
(Fry) 

•  

http://www.ekigunea.eus/eu/edukia/dbh1/english/e

ng-1-3/U/7?lang=en (Inventions simulation) 
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Inventions Activity 1: Steps 1-3:    
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Inventions Activity 1: Step 4 
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Inventions Activity 1: Step 5 
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‘Difficulty’ in didactic materials 
 

 On the theory of relativity 

Einstein stated that the theory of relativity belongs to the class of "principle-

theories". As such it employs an analytic method. This means that the 

elements which comprise this theory are not based on hypothesis but on 

empirical discovery. The empirical discovery leads to understanding the 

general characteristics of natural processes. Mathematical models are then 

developed which separate the natural processes into theoretical-

mathematical descriptions. Therefore, by analytical means the necessary 

conditions that have to be satisfied are deduced. Separate events must 

satisfy these conditions. Experience should then match the conclusions. 

The special theory of relativity and the general theory of relativity are 

connected. As stated below, special theory of relativity applies to all physical 

phenomena except gravity. The general theory provides the law of 

gravitation, and its relation to other forces of nature. 
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To differentiate between the planets in the Solar System,  
BY interpreting, transcribing and producing descriptions  
USING derived adjectives, comparatives and superlatives.  

 

 
 

  Conceptual content to 

be acquired 

Specific language 

items needed. 

Procedural skills used 

to work on the concept     

Copyright Phil Ball 



Copyright Phil Ball 



 

Copyright Phil Ball 



 

Copyright Phil Ball 



English 

Act. 33 

 
Beasain 1 

 

 

 

 

 

Before you look at the data on Beasain on 

      pages 45 and 46, have a guess at the following 

      questions.  Do this in pairs. 

 

1. Beasain is an industrial town.  Would you  

expect more women or more men in the total  

population?    

    Guess _________________ 

 

2. Industrial towns attract ‘migrant’ workers from other areas of the country.    

Would you expect more women or more men migrants in Beasain? 

      Guess ________________ 

What percentage of the total population of Beasain do you think is ‘migrant’? 

      Guess ________________ 
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Now look at the data on page 46 to work out whether your 

guesses were accurate or not. 

 

Find two of the guesses that were wrong, and before your 

teacher asks you about them, try to justify why you guessed as 

you did.!  

 
For example: 

“For Number 1, we thought there would be more men than 

women in the total population, because in an industrial town 

more of the workers are men.” 

 

Be ready to speculate on the reasons why you were wrong.   

 
For example: 

“For Number 1, maybe most of the active population is 

married, and belongs to families?  Industry might attract 

families, not single workers.” 
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ball.philip6@gmail.com 
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